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General Instructions:- 

1. The question paper is divided into two parts:

Part A 

Part B 

     2 . All questions are compulsory.

     3.  You may attempt any part at a time.

     4. All questions of that particular part must be attempted in the correct order.

                                                             

Q1.  Read the passage given below and attempt the questions that follow:

1. Legends will tell you that flamingos are no ordinary visitors in Kutch

honoured guests of king Lakkho and he had forbidden the hunting of flamingo

to Kutch from various parts of the world every year to breed. For centuries, the r

been a heaven for the migratory bird. Today, Flamingo city

Kutch, known the world over as one of the biggest breeding grounds of the greater flamingo, 

is strewn with bodies of hundreds of flamingo chic

the island due to lack of food. Zoo

are dying due to sudden increase in the salinity of the Rann waters. One 

fish floating. 

2.  Flamingos need salt encrusted

nests has to be inaccessible to predatory cats and birds

The right mix of sweet and brackish water in the Rann is crucial for the 

planktons and algae that the flamingos feed on. Faced with st

the island leaving their chicks to fend for themselves. 

have died. 

3.  Maharaja Kumarshri Himmatsinghji

Kutch, traces the problem of the increase in salinity in the R

dams on rivers that flow into the region

ensure that at least some water should flow into the

ornithologist, had found five lakh birds on the 

above 2.2 lakh. However, the studies

in the area. The reason, the terrain is so inhospitable that it is simply not possible to visit the 

place every year.  

       4.  Says Himmat singh ji, ‘’ The ringing of flamingo

term studies on the bird .’’ Unfortunately

single bird has been ringed. No wonder questions 

remain only partially answered. 
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   PART -A 

Read the passage given below and attempt the questions that follow: 

that flamingos are no ordinary visitors in Kutch

sts of king Lakkho and he had forbidden the hunting of flamingo

to Kutch from various parts of the world every year to breed. For centuries, the r

tory bird. Today, Flamingo city. an island in-

, known the world over as one of the biggest breeding grounds of the greater flamingo, 

is strewn with bodies of hundreds of flamingo chicks. The parents of these chicks have fled

. Zooplanktons, algae and small fish that these birds survive on 

are dying due to sudden increase in the salinity of the Rann waters. One 

Flamingos need salt encrusted, damp mud to build their nests. The place where they build 

le to predatory cats and birds. It should also have sufficient

The right mix of sweet and brackish water in the Rann is crucial for the 

planktons and algae that the flamingos feed on. Faced with starvation, flamingos have fled 

chicks to fend for themselves.  Till date around a thousand flamingo

Himmatsinghji, a royal family of Kutch and an expert on the birds of 

, traces the problem of the increase in salinity in the Rann waters to the construction of 

rivers that flow into the region. He emphasizes that efforts should be made to 

ome water should flow into the Rann. In 1945, Salim Ali

d five lakh birds on the island. Since then the number has not gone 

2.2 lakh. However, the studies carried out on the flamingos have not been successful

. The reason, the terrain is so inhospitable that it is simply not possible to visit the 

, ‘’ The ringing of flamingos is mandatory to conduct

term studies on the bird .’’ Unfortunately , ever since the city was discovered 

single bird has been ringed. No wonder questions like from where these birds migrate 

remain only partially answered.  
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All questions of that particular part must be attempted in the correct order. 

  (1x10=10) 

that flamingos are no ordinary visitors in Kutch. They were the 

sts of king Lakkho and he had forbidden the hunting of flamingos, which came 

to Kutch from various parts of the world every year to breed. For centuries, the region has 

-between the Rann of 

, known the world over as one of the biggest breeding grounds of the greater flamingo, 

ks. The parents of these chicks have fled 

sh that these birds survive on 

are dying due to sudden increase in the salinity of the Rann waters. One can even see dead 

, damp mud to build their nests. The place where they build 

. It should also have sufficient food. 

The right mix of sweet and brackish water in the Rann is crucial for the proliferation of the 

, flamingos have fled 

date around a thousand flamingos 

an expert on the birds of 

ann waters to the construction of 

. He emphasizes that efforts should be made to 

Rann. In 1945, Salim Ali, the late 

. Since then the number has not gone 

have not been successful 

. The reason, the terrain is so inhospitable that it is simply not possible to visit the 

conduct accurate and long 

ince the city was discovered in 1893, not a 

like from where these birds migrate 



 Read the question and select the correct option- 

(i)  Planktons and algae, which form the food of flamingos, require_____ 

a)  encrusted salt    

b)  salinity of water 

c)  the right mix of sweet and brackish water for proliferation 

d)  rain water for proliferation 

(ii)  Ornithologists find it difficult to conduct regular studies on flamingos because___ 

a) the terrain is inhospitable b) the predatory cats and birds are there 

c)  of the migratory birds  d) of lack of food 

(iii)  To conduct long term studies on the bird__ 

a) people should write books. 

b) the ringing of the birds is compulsory . 

c) newspaper should publish stories on the birds 

d) sufficient food should be carried to the terrain 

(iv)  The increase in salinity in Rann water is due to  

a) the construction of dams on rivers , which flow into the region. 

b)  dead fish  

c) planktons and algae 

d) the chicks of flamingo 

(v)  Flamingo city is ____ 

a) in Mumbai    b) Rajasthan 

c) Rannn of Kuchh,  Gujrat  d) West Bengal 

(vi)  Lack of food in Rann has caused 

a) the flamingos flee the island leaving their chicks to fend for themselves.  

b) water to flow in the area  

c) the fish die 

d) the biggest breeding grounds 

(vii)  To build nests Flamingos need: 

a) saline water    b) sweet water  

c) salt encrusted, damp mud d) hard soil 

(viii) Salim Ali was  

a) zoologist   b) geologist  c) pedologist  d) ornithologist 

(ix)  How many birds have been ringed so far? 

a) two    b) ten    c) none  d) many 
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(x)  When was the city of flamingo discovered? 

a) 1983 b) 1398 c) 1893 d) 1839 

PASSAGE - II 

Q2.  Read the following passage and choose the correct option of the questions :            (1x10=10) 

A weak old man went to live with his son, daughter-in-law, and four- year- old grandson. 

The family ate together at the table. But the elderly grandfather’s shaky hands and failing 

sight made eating difficult. Peas rolled off the spoon on to the floor. When he grasped the 

glass, milk spilled on the table cloth. The son and daughter-in-law became angry. 

‘’Something must be done about Father’’,said the son. So the husband and wife set a small 

table in the corner. There, grandfather ate dinner alone. Since he had broken a dish or two, 

his food was served in a wooden bowl. He had tears in his eyes as he sat alone seeing his 

family glancing at him occasionally. The four-year-old watched it all in silence. He didn’t 

understand why his grandfather was sad. Grandfather didn’t say anything. He never 

complained but the boy observed his wet eyes. His parents never bothered to see the surging 

emotion in grandfather. The boy quietly noticed this for many days . His young mind had lot 

of questions. He went to his mother for a reply. Mother ignored him. His father was busy 

with his own work and failed to see that the child had a storm going on in his mind. Many 

days had elapsed. Grandfather remained cocooned in his own world without letting the 

family know what he had been going through. He accepted their rejection without whine as 

he was physically too feeble to make any changes to his situation. He moaned quietly. 

One evening before supper the couple noticed their son working with wooden scraps on the 

floor. The father asked the child,’’ What are you making?’ Innocently the boy responded : 

‘Oh , I am making a little bowl for you and mamma to eat your food when you grow old’.  

The parents were speechless.They did not utter a single word. But that evening , the husband 

took grandfather’s hand and gently led him back to the family table. The life for the child 

became wonderful as he succeeded in bringing the family back together. 

Read the question and select the correct option - 

(i) The elderly grandfather’s shaky hands and failing sight  

a) made everyone rude    b) made sewing the shirt difficult 

c) made playing tennis difficult  d)made eating difficult 

           (ii)  The husband and wife set aside a table for the old man to eat as : 

a)they could not enjoy it more b)they could not tolerate it any more 

c) he could relish alone   d) he felt lonely 

           (iii)  The food was served to the elderly man in a wooden bowl as: 

a) he had broken a dish before  b)he was happy eating such a meal 

c) he had liking for such a thing  d)he had broken his own tumbler 
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(iv)  The underlying message in the story is : 

a) we should not give extra time to parents  

b) we should not take care of them 

c) we should not discard our elderly parents   

d) we should provide them wooden bowl to eat 

(v)  The noun form of’ angry’ is: 

a)angered   b) angrily   c) anger some d) anger 

(vi)     ‘’Something must be done about father” Who said this? 

a) Grandson   b) Son   c) Daughter  d) Grandfather 

(vii)  ‘’Oh I am making a little bowl for you and mamma to eat your food in when you 

grow old” 

Who is ‘you’ in the above line? 

a) The grand father  b) Father  c) Grandson  d) None 

(viii)      Which word in the passage is synonymous with “ clench’’ 

a) rolled    b) responded  c) grasped  d) spilled 

(ix)    How many members were there in the family before grandfather came to live with  

       them? 

a) 4   b) 3  c) 2  d) 5 

            (x)  What is ‘supper’? 

a) breakfast  b) lunch  c) an evening meal  d) none of above 

Q.3.  Read the following extract and choose the correct options of the given questions: (1x5=5) 

But thy eternal summer shall not fade 

Nor lose possession of that fair thou ow’st; 

Nor shall Death brag thou wander’st in his shade 

i) Name the poet and the poem. 

a) William Words Worth, Daffodils   b) William Shakespeare, Sonnet 18 

c) William Blake, songs of innocence  d) William Lawson ,My friend 

ii) What does ‘thy’ mean in the above line? 

a) your  b) mine c) their   d) his 

iii)Whose  eternal summer shall not fade? 

a) Nature’s  b) poet’s c) poet’s beloved  d) none 
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iv) Which poetic device is used in the line’’ Nor shall Death………’’. 

a) simile   b) metaphor  c) personification  d) irony 

       v) How does the poet accomplish his job? 

a) by erecting a statue of his beloved b) by writing poetry for beloved 

c) by engraving name on the grave d) by visiting different countries 

Q.4.  Read the following sentence and choose the correct options of given questions:    (1x5=5) 

‘’Didn’t you wonder why it never fluttered or moved when the wind blew? Ah, darling, it’s 

Behrman’s masterpiece-he painted it there the night the last leaf fell’’.  

i) Who said these words and to whom? 

a) Jhonsy to sue b) Painter to jhonsy  c) Sue to Jhonsy d) Sue to the painter 

ii) Who was Behrman ?How old was he? 

a) An old painter, 60 years  b) An old engineer , 70 years 

c) A cobbler , 66 years   d) A snake charmer, 59 years 

iii) What is ‘it’?  

a) a star   b) a flower    c) a box  d) a leaf 

iv) Why it never fluttered? 

     a)it was a painting b)it was a flag c) it was a lizard d) it was a pipe 

v) What was Behrman’s dream? 

    a) to paint a leaf   b) to create a masterpiece  

    c) to paint a rainy night  d) to paint a portrait 

Q.5. Choose  the correct   option:           (1x10=10) 

(i)  He said to her,”What a cold day!” 

Choose the correct indirect speech 

a) He told her that it is a cold day.   b) He exclaimed that it is a cold day. 

c) He exclaimed sorrowfully  it was a cold day   d) He exclaimed that it was a very cold day 

(ii) She said to the tailor, ‘’ Will you get the dress ready by tomorrow evening”? 

Choose the correct indirect speech 

a)   She asked the tailor that he will get the dress ready by the next evening. 

b) She asked the tailor that he would get the dress ready by tomorrow evening. 

c) She asked the tailor if he would get the dress ready by the next evening. 

d) She asked the tailor if he will get the dress ready by next evening. 

Pg – 5 of 7 

 



 

 (iii)  He is probably the best golfer ----I’ve played against. 

  Fill in the correct word 

  a) which  b) whom c)where  d) who 

 (iv)  Which part of the following sentence is a clause? 

          The books that were borrowed from school must be returned. 

       a) The books  b) that were borrowed from school 

       c) were borrowed d) must be returned 

 (v)  Andrew ---eat five slices of pizza in just one meal. 

      a) should  b) must c) have to  d) can 

 (vi)  We get paid --- 

      a) for hour   b) in hour c) hourly  d) none 

 (vii)  Neither of the men_____ arrived here yet. 

  a) are    b) is   c) has   d) were 

 (viii) The Isle of Skye lies ___ the coast of Scotland. 

  a) of    b) at  c) off   d) on 

 (ix)  He helped me with the lessons ___I should fail. 

  a) because  b) lest  c)after   d) but 

 (x)  Gravitation is the force ____holds us all down. 

  a) whom  b) that  c) whose  d) who 

                             PART - B 

Q.6.  Do as directed:          (1x10=10) 

 a) He should buy a book. [ Change into passive voice] 

 b) I was learning my lessons. [ Change into passive voice] 

 c) The second term of school____ (begin) this year on 6th September. 

                 ( use correct form of verb) 

 d) At 9 o’clock yesterday morning we_______ ( wait)for the bus.( use correct form of verb) 

 e) It is too late to start a new lesson for us. (rewrite the sentence using ‘so…that’) 

 f) I called for John who came at once.( convert into a  compound sentence) 

 g) She cannot remember what she said last night.{ underline the clause and name its kind) 

 h) If you think you can, you can .( underline the clause and name its kind) 

 i) He said,’’Rohit was working in the factory’’.(Change into indirect speech) 

 j) I have ------- something to share .(provide a determiner if necessary) 
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Q.7.  Develop a story in 150 -200 words with the following beginning:            (5) 

Sandeep is an over-ambitious boy. He wants to soar high in life but does not get opportunity. 

But one fine day, he …………. 

Q.8. Gandhinagar is a thickly populated locality inhabited mainly by working class people. 

Unfortunately there is no proper drainage system in thelocality . Write a letter in 150 words 

to the editor of a daily newspaper drawing the attention of the authorities to the problems 

faced by the people because of lack of proper drainage system and requesting them to act 

upon it as early as possible. You are Sam/Shobhnaof Gandhinagar,Mumbai.           (5) 

                                                          OR 

Write an article for the school magazine on how we, as individuals ,can contribute to save 

our planet.                        (150 words) 

Q.9.  Read the sentence and answer the questions below:      (1x4=4) 

 Have  I not reason to lament 

 What man has made of man ? 

 a)William Wordsworth is called a --------- poet. 

 b)Why is the poet sad? 

 c) What is he asking man to do? 

 d) Does man listen to his appeal? 

Q.10.  Answer ANY FIVE of the following :                   (2x5=10) 

i) According to Vera what tragedy had befallen Mrs. Sappleton three years ago?  

    Write in your own words. 

 ii) Why does the mirror describe itself as ‘The eye of  a little god, four- cornered’? 

 iii) What did the lady on the third floor say? Does the speaker agree with her? 

 iv) What present did Bakri decide to take for his grandfather? Why? 

 v) Did the king find answers to his questions? How? 

 vi) Why was the watchman not afraid of the leopard? 

 vii) Why did the ‘art people’ come prowling there? 

Q.11. Why do you think Johnsy had connected falling of leaves with her death?Write briefly  

 on the importance of having positive attitude towards life .                                                    (3) 

Q.12. What according to Sylvia Plath are the qualities of a mirror?                                    (3) 
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d{kk& d{kk& d{kk& d{kk& vkBvkBvkBvkB                

le;& le;& le;& le;& 3 ?kaVs?kaVs?kaVs?kaVs                

funs”k%& funs”k%& funs”k%& funs”k%&  

1. lHkh iz”uksa ds mŸkj nsuk vfuok;Z gaSAlHkh iz”uksa ds mŸkj nsuk vfuok;Z gaSAlHkh iz”uksa ds mŸkj nsuk vfuok;Z gaSAlHkh iz”uksa ds mŸkj nsuk vfuok;Z gaSA    

2. Øekuqlkj iz”uksa ds mŸkj fy[ksaAØekuqlkj iz”uksa ds mŸkj fy[ksaAØekuqlkj iz”uksa ds mŸkj fy[ksaAØekuqlkj iz”uksa ds mŸkj fy[ksaA    

1. fuEufyf[kr fuEufyf[kr fuEufyf[kr fuEufyf[kr x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &

    d d d d  vkt dk ;qx foKkiuksa dk ;qx gSA lHkh yksx vius n~okjk fufeZÙk oLrqvksa vkSj vius fopkjksa dks jkrksa &jkr 
nqfu;k ds ckt+kj esa csp nsuk pkgrs gSaA nqfu;k ds yksx Hkh bu vkd’kZd foKkiuksa ls izH
[kjhn ysrs gSaA lekpkj i=] nwjn”kZu baVjusV ds ek/;e ls fofo/k oLrqvksa dk foKkiu fd;k tkrk gSA

dbZ yksxksa dks t:jr u gksus ij Hkh phtksa dks [kjhnus vkSj bdV~Bk djus dh vknr gksrh gSA ;g vknr 
Vh0oh0] v[kckj vkfn ds foKkiuksa ls cgqr izHkkfor gksrh gSA lekt esa cM+s iSekus esa bl fLFkfr dks miHkksDrk 
dgrs gSaA miHkksDrkokn] vfr miHkksx csfglkc dpjk]
thok”e ba/kuksa us csfglkc ek=k esa tks thou ds fofo/k :iksa ds fy, csgn fouk”kdkjh gSA blds fy, ubZ lnh esa 
if”peh fodflr ns”k vius Hkfo’; dh n`f’V ls Hkjkslsean vkSj fVdkÅ fodYi [kkst jgs gSaA lkbfdy
,slk gh fodYi gSA ;g iwjs Hkkjrh; miegkn~ohi esa ifjogu dk ,d yksdfiz; lk/ku gSA Hkkjr esa 
dk vkxeu fiNyh ds ikapos n”kd ds “kq:vkrh nkSj esa gqqvkA blls igys ydM+h ds ifg, okys vkSj Jelk/; 
gkFk ls [khapus okys lk/ku FksA 

 (i) fcuk t+:jr phtksa dks [kjhnus ,oa bdV~Bk djus dh vknr dk dkj.k gS&

  (d) vko”;drk     

  (x) ?kj esa lkeku dh deh    

(ii) miHkksDrkokn fdls dgrs gSa\ 

(d) foKkiuksa ls izHkkfor gksdj fcuk t:jr lkeku [kjhnus dks 
([k) iznw’k.k QSykus dks  
(x) lalk/kuksa dh cjcknh dks 
(?k) Vh0oh0 ,oa v[kckj dks 

(iii) csfglkc ek=k esa fdlus iznw’k.k iSnk fd;k gS
 (d) dpjk mRiknu us  

(x) thok”e ba/kuksa us      

 (iv) Hkkjrh; miegkn~ohi esa ifjogu dk yksdfiz; lk/ku dkSu lk gS

  (d) thok”e bZa/ku      
 (v) Hkkjr esa lkbfdy fjD”ks dk vkxeu chloha lnh ds dkSu & ls n”kd

(d) ukSosa        

 

            fnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡ph 
                                                            okf"kZd ijh{kk okf"kZd ijh{kk okf"kZd ijh{kk okf"kZd ijh{kk (2020-21)     

                                                            fo"k;&fgUnhfo"k;&fgUnhfo"k;&fgUnhfo"k;&fgUnh

                                            iw.kkZad&8iw.kkZad&8iw.kkZad&8iw.kkZad&8

([k.M & d[k.M & d[k.M & d[k.M & d)    

x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &                

kt dk ;qx foKkiuksa dk ;qx gSA lHkh yksx vius n~okjk fufeZÙk oLrqvksa vkSj vius fopkjksa dks jkrksa &jkr 
ckt+kj esa csp nsuk pkgrs gSaA nqfu;k ds yksx Hkh bu vkd’kZd foKkiuksa ls izH

ysrs gSaA lekpkj i=] nwjn”kZu baVjusV ds ek/;e ls fofo/k oLrqvksa dk foKkiu fd;k tkrk gSA

dbZ yksxksa dks t:jr u gksus ij Hkh phtksa dks [kjhnus vkSj bdV~Bk djus dh vknr gksrh gSA ;g vknr 
vkfn ds foKkiuksa ls cgqr izHkkfor gksrh gSA lekt esa cM+s iSekus esa bl fLFkfr dks miHkksDrk 

miHkksDrkokn] vfr miHkksx csfglkc dpjk] mRiknu dk nkuo rsy lalk/kuksa dh uhao ij [kM+k gSA bu 
csfglkc ek=k esa tks thou ds fofo/k :iksa ds fy, csgn fouk”kdkjh gSA blds fy, ubZ lnh esa 

if”peh fodflr ns”k vius Hkfo’; dh n`f’V ls Hkjkslsean vkSj fVdkÅ fodYi [kkst jgs gSaA lkbfdy
Hkkjrh; miegkn~ohi esa ifjogu dk ,d yksdfiz; lk/ku gSA Hkkjr esa 

ds ikapos n”kd ds “kq:vkrh nkSj esa gqqvkA blls igys ydM+h ds ifg, okys vkSj Jelk/; 

t+:jr phtksa dks [kjhnus ,oa bdV~Bk djus dh vknr dk dkj.k gS& 

([k) Vh0oh0] v[kckj vkfn esa foKkiu  

?kj esa lkeku dh deh     (?k) dsoy iSlk [kpZ djuk  

ls izHkkfor gksdj fcuk t:jr lkeku [kjhnus dks  

/kuksa dh cjcknh dks  
Vh0oh0 ,oa v[kckj dks  

csfglkc ek=k esa fdlus iznw’k.k iSnk fd;k gS\ 
([k) lkbfdy fjD”kk us   

      (?k) yM+dh ds ifg, okys fjD”kk us  

gu dk yksdfiz; lk/ku dkSu lk gS\ 

([k) lkbfdy fjD”kk  (x) eksVjxkM+h    
Hkkjr esa lkbfdy fjD”ks dk vkxeu chloha lnh ds dkSu & ls n”kd esa gqvk\ 

([k) rhljs   (x) lkrosa    
Pg – 1 of 8 

fo"k;&fgUnhfo"k;&fgUnhfo"k;&fgUnhfo"k;&fgUnh    
iw.kkZad&8iw.kkZad&8iw.kkZad&8iw.kkZad&80000    

    [1x5=5] 

kt dk ;qx foKkiuksa dk ;qx gSA lHkh yksx vius n~okjk fufeZÙk oLrqvksa vkSj vius fopkjksa dks jkrksa &jkr 
ckt+kj esa csp nsuk pkgrs gSaA nqfu;k ds yksx Hkh bu vkd’kZd foKkiuksa ls izHkkfor gksdj <sjksa lkeku 

ysrs gSaA lekpkj i=] nwjn”kZu baVjusV ds ek/;e ls fofo/k oLrqvksa dk foKkiu fd;k tkrk gSA 

dbZ yksxksa dks t:jr u gksus ij Hkh phtksa dks [kjhnus vkSj bdV~Bk djus dh vknr gksrh gSA ;g vknr 
vkfn ds foKkiuksa ls cgqr izHkkfor gksrh gSA lekt esa cM+s iSekus esa bl fLFkfr dks miHkksDrk 

mRiknu dk nkuo rsy lalk/kuksa dh uhao ij [kM+k gSA bu 
csfglkc ek=k esa tks thou ds fofo/k :iksa ds fy, csgn fouk”kdkjh gSA blds fy, ubZ lnh esa 

if”peh fodflr ns”k vius Hkfo’; dh n`f’V ls Hkjkslsean vkSj fVdkÅ fodYi [kkst jgs gSaA lkbfdy fjD”kk ,d 
Hkkjrh; miegkn~ohi esa ifjogu dk ,d yksdfiz; lk/ku gSA Hkkjr esa lkbfdy fjD”ks 

ds ikapos n”kd ds “kq:vkrh nkSj esa gqqvkA blls igys ydM+h ds ifg, okys vkSj Jelk/; 

(?k) cSyxkM+h  

(?k) ik¡posa  



 
 

        [k[k[k[k fuEufyf[kr x|ka”k dks /;kuiwoZd i<+sa rFkk vk/kkfjr lgh mÙkj pqudj fy[ksa &     [1x5=5] 

*vuq”kklu* dk vFkZ gS & fu;eksa ds vuqlkj thou O;rhr djukA laiw.kZ l`f’V Hkh vuq”kklu dk ikyu djrh gSA 
vuq”kkflr thou thus ls ekuo izxfr ds iFk ij vxzlj gksrk gSA vuq”kklu dk ikyu djus ls lHkh dk;Z 
le; ij iwjs gks tkrs gSaA 

le;kHkko dh vFkok le; ij dke iwjk u gksus dh f”kdk;r djus dk volj gh ugha vkrk gSA ;gh ugha le; 
dh cpr Hkh gksrh gSA lw;Z vkSj panzek Hkh vuq”kklu esa c¡/kdj lalkj dks deZ vkSj foJke djus dk lans”k nsrs 
gSaA lalkj ds lHkh lQy O;fDr us vius thou esa vuq”kklu dk n`<+rk ls ikyu fd;k A jk’Vªfirk egkRek xka/kh 
gksa ;k ykSgiq:’k ljnkj iVsy gksaA ge lHkh ds lkeus vuq”kkflr thou dk lqanj mnkgj.k izLrqr fd;kA  

orZeku ;qx esa dqN yksx ;g lksaprs gSa fd vc ekuo f”kf{kr vkSj lH; gks x;k gSA ml ij fdlh izdkj ds 
fu;e mfpr ugha gSA og Lora= :i ls tks Hkh djs] mls djus nsuk pkfg,A ysfdu ;fn O;fDr dks ;g vf/kdkj 
ns fn;k tk, rks pkjksa rjQ oU;&thou tSlh vO;oLFkk vk tk,xhA ekuo] ekuo gh gS] nsork ughaA vr% mlesa 
lqizòfÙk;k¡ rFkk dqizo`fÙk;k¡ nksuksa gh gksrh gSA ekuo lH; rHkh rd jgrk gS] tc rd og viuh lqizòfÙk;k¡ ds 
vuqlkj dk;Z djsA blfy, ekuo ds iw.kZ fodkl ds fy, dqN ca/kuksa vkSj fu;eksa dk gksuk vko”;d gSA 
vuq”kklucn~/krk ekuo&thou ds ekxZ esa ck/kd ugha] vfirq mldks iw.kZ mUufr rd igq¡pku]s ds fy, vuqdwy 
volj iznku djrh gSA blfy, vuq”kklu ds fcuk rks ekuo thou dh dYiuk Hkh ugha tk ldrh gSA vuq”kklu 
ds ca/ku esa c¡/kdj euq’; le; dk lnqi;ksx djrs gq, vius thou esa mUufr dj ldrk gSA 

(i) *vuq”kklu* dk D;k vFkZ gS\ 

(d) fu;eksa ds vuqlkj thou O;rhr djuk    ([k) vkyL; dks c<+kok nsuk 

(x) thou esa u;s fu;e cukuk    (?k) fu;eksa dh vogsyuk djuk  

(ii) *ekuo] ekuo gh gS] nsork ugha* & dFku dk D;k vFkZ gS\ 

(d) ekuo esa dqizòfÙk;k¡ gksrh gSaA    ([k) ekuo esa lqizo`fÙk;k¡ ugha gksrh gS 
(x) ekuo nsork ds leku gksrk gSA (x) ekuo esa dqizo`fÙk;k¡ vkSj lqizòfÙk;k¡ gksrh gS 

(iii) ekuo lH; dc dgykrk gS\ 

(d) tc og viuh lqizo`fÙk;ksa ds vuqlkj dk;Z djsA 

([k) tc og u,&u, fu;e cuk,A  

(x) tc og Lora= :i ls dk;Z djsA 

(?k) tc og voljksa dk ykHk mBk,A 

(iv) lalkj ds lHkh & lQy O;fDr;ksa us fdl ckr dks lcls vf/kd egÙo fn;k\ 

(d) foJke dks    ([k) Lora=rk dks    (x) f”k{kk dks    (?k) vuq”kklu dks  

(v) fuEufyf[kr “kCnksa esa ls fdl “kCn esa *milxZ* ,oa *izR;;* nksuksa dk iz;ksx gqvk gS\  

(d) vuqdwy     ([k) turk    (x) f”kf{kr     (?k) vuq”kkflr  
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2 O;kdj.k ij vk/kkfjr fuEufyf[kr iz”uksa ds lgh mÙkj pqudj fy[ksa &     [1x12=12] 

 (i) “k~ ] ‘k] l~] g~ & O;atu ds dkSu ls Hksn ds varxZr vkrs gSa\ 

(d) Li”kZ O;atu      ([k) m’e O;atu    (x) la;qDr O;atu  (?k) varLFk O;atu  

 (ii) fuEufyf[kr “kCnksa esa dkSu lk “kCn *fdukjk* “kCn dk i;kZ;okph ugha gS\ 

 (d) iqfyu        ([k) naHk     (x) rhj    (?k) dxkj  

 (iii) fuEufyf[kr “kCnksa esa ls ;kSfxd “kCn dk mnkgj.k gS &  

 (d) ?kqM+lokj      ([k) pØikf.k    (x) okfjt    (?k) v:.k  

(iv) tks igys gqvk gks & blds fy, ,d “kCn gS &  

(d) vlaHko       ([k) HkwriwoZ    (x) vHkwriwoZ   (?k) vukfn  

(v) fuEufyf[kr “kCnksa esa ls mfpr “kCn pqudj fjDr LFkku Hkjsa &  

*dr̀* izR;; dk iz;ksx ----------------------- ds lkFk gksrk gSA 

(d) laKk    ([k) loZuke   (x) fØ;k  (?k) fo”ks’k.k  

(vi) ydM+gkjk ydM+h dkV jgk gS & deZ ds vk/kkj ij fØ;k ds Hksn crk,¡ & 

(d) vdeZd     ([k) f}deZd     (x) vdeZd vkSj ldeZd  (?k) ldeZd  

(vii) fØ;k dk ewy :i D;k dgykrk gS\ 

(d) /kkrq    ([k) fØ;k fo”ks’k.k     (x) ldeZd fØ;k   (?k) vdeZd fØ;k  

(viii) jhfrokpd fØ;k fo”ks’k.k “kCn dkSu lk gS\ 

(d) T;knk  ([k) tSls&rSls    (x) vktdy     (?k);gk¡&ogk¡ 

(ix) fuEufyf[kr fodYiksa esa ls L=hfyax “kCnksa ds lewg Nk¡Vs & 

(d) vk;q] ;equk] “k=qrk     ([k) ijh{kk] yM+kbZ] ghjk   (x) ik¡o ] ?kh] fganh    (?k) fMfc;k ] vfXu] ihiy 

(x) fuEufyf[kr okD; esa fdu&fdu fojke fpg~uksa dk iz;ksx gksxk\  

vgk fdruk lqanj Qwy gS   

(d)  ] ,oa A   ([k) ! ,oa A     (x) & ,oa A     (?k) ! ,oa \ 

(xi) le>kus ij Hkh u ekuuk & bl vFkZ ds fy, mi;qDr eqgkojk crk,¡A 

(d)  vkLrhu dk lk¡i   ([k) vkx esa ?kh Mkyuk    (x) vDy ds ihNs yV~B fy, fQjuk  (?k) vkM+s gkFkksa ysuk  
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(xii) fjDr LFkku esa mfpr eqgkojs dk iz;ksx dj okD; iwjk djsa &  

Hkkjrh; lsuk us phuh lsuk dks ------------------- fn;kA 

(d)  tys ij ued fNM+dj     ([k) bZaV dk tokc iRFkj ls   (x) dystk BaMk dj   (?k) m¡xyh ij upk dj  

3. fuEufyf[kr x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &     [1x5=5] 

 (d)   tc igyh ckj flusek us cksyuk lh[k fy;k ] flusek es dke djus ds fy, i<+s fy[ks vfHkusrk&vfHkusf=;ksa dh 
t:jr Hkh “kq: gqbZ D;ksafd] vc laokn Hkh cksyus Fks flQZ vfHku; ls dke ugha pyusokyk FkkA ewd fQYeksa ds 
nkSj es rks igyoku tSls “kjhjokys] LVaV djusokys vkSj mNy dwn djusokys vfHkurkvksa ls dke py tk;k 
djrk FkkA vc mUgsa laokn cksyuk Fkk vkSj xk;u dh izfrHkk dh dnz Hkh gksus yxh FkhA blfy, * vkye vkjk* 
ds ckn vkjafHkd *lokd~* nkSj dh fQYeksa esa dbZ *xk;d&vfHkusrk* cM+s insZ ij ut+j vkus yxsA fganh&mnwZ Hkk’kkvksa 
dk egÙo c<+kA flusek esa nsg vkSj rduhd dh Hkk’kk dh txg tu izpfyr cksypky dh Hkk’kkvksa dk nkf[kyk 
gqvkA flusek T;knk nslh gqvkA ,d rjg dh u;h vktknh Fkh ftlls vkxs pydj gekjs nSfud vkSj lkoZtfud 
thou dk izfrfcac fQYe esa csgrj gksdj mHkjus yxkA 

(i) *vkyevkjk* fQYe ds izn”kZu ds ckn i<+s & fy[ks vfHkusrk &vfHkusf=;ksa dks fy;k tkus yxk] D;ksafd  

    (d)  mUgsa LVaV djuk Fkk           ([k)  mUgsa laokn Hkh cksyus Fks   

 (x)  vPNk vfHku; djuk Fkk     (?k)  mUgsa flQZ lkadsfrd Hkk’kk dk iz;ksx djuk FkkA 

(ii) ewd fQYeksa esa fdl ckr dh vko”;drk ugha Fkh\ 

    (d)  vfHkusrk dh      ([k)  vfHkus=h dh    (x)  insZ dh    (?k)  laokn dh     

(iii) lokd~ fQYeksa ds le; esa fdu Hkk’kkvksa dk egÙo c<+ x;k \ 

    (d)  fgUnh vkSj ejkBh    ([k)  fgUnh vkSj mnwZ    (x)  vaxzsth vkSj ejkBh   (?k)  ejkBh vkSj mnwZ 

(iv) lokd~ fQYeksa esa fuEufyf[kr esa fdl izfrHkk dh dnz gksus yxh \ 

    (d)  igyokuh dh     ([k)  fgUnh cksyus dh {kerk dh  (x)  u`R; dh  (?k)  xk;u dh  

   (v) gekjs nSfud vkSj lkoZtfud thou dk izfrfcac fQYeksa esa csgrj gksdj mHkjus dk dkj.k D;k Fkk\ 

    (d)  tu izpfyr Hkk’kkvksa dk iz;ksx     ([k)  xk;d&vfHkusrk dk insZ ij utj vkuk 

  (x)  i<+s &fy[ks vfHkusrk &vfHkusf=;ksa dk xk;u    (?k)  fofHkUu rduhdksa dk iz;ksx gksuk  

       ([k)  fuEufyf[kr i|ka”k dks /;kuiwoZd i<a+s rFkk ml ij vk/kkfjr iz”uksa ds lgh mÙkj pqusa &  [1x4=4] 

  dNq HkkHkh gedks fn;ks] 

  lks rqe dkgs u nsrA 
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  pk¡fi iksVjh dk¡[k esa] 

  jgs dgks dsfg gsrqAA 

  vkxs puk xq:ekrq n, rs] 

  y, rqe pkfc gesa ufga nhusA 

  L;ke dáks eqldk; lqnkek lksa] 

  **pksjh dh cku esa gkS tw izohusAA 
  iksVjh dk¡[k esa pk¡fi jgs rqe] 
  [kksyr ukfga lq/kk jl HkhusA 
  ikfNfy ckfu vtkS u rtks rqe] 
  rSlbZ HkkHkh ds ranqy dhUgsAA** 
  

  (i)  xq:ekrk us pus fdls fn, Fks\ 

    (d)  d`’.k dks    ([k)  lqnkek dks     (x)  }kjiky dks   (?k)  xq: dks  

    (ii)  *pk¡ih iksVjh dk¡[k esa] jgs dgks dsfg gsrqAA 

   mi;qZDr iafDr fdlus] fdlls dgk\ 

(d)  lqnkek us d`’.k ls     ([k)  d`’.k us lqnkek ls    

(x)  }kjiky us d`’.k ls    (?k)  lqnkek dh iRuh us lqnkek ls  

(iii)  mi;qZDr i|ka”k esa fdldks fdl vknr esa dq”ky crk;k x;k gS\ 

(d)  d`’.k dks [kkus dh vknr esa          ([k)  lqnkek dks Nqikus dh vknr esa    

(x)  lqnkek dks pksjh dh vknr esa      (?k)  d`’.k dks ek¡xus dh vknr esa  

(iv)  *ranqy* “kCn dk vFkZ crk,¡ &  

(d)  puk     ([k)  ve`r     (x)  pkoy        (?k)  rksM+uk   

4. ikB~; iqLrd ij vk/kkfjr fuEufyf[kr iz”uksa ds lgh mÙkj pqusa %&      [1x9=9] 

 (i)  dfo fujkyk ds vuqlkj fufnzr dfy;ksa dh ranzk dk D;k dkj.k gS\ 

(d)  clar_rq dk vkxeu     ([k)  vkyL; ,oa fujk”kk    (x)  vdeZ.;rk   (?k)  vk”kkoknh gksuk  

(ii)  ys[kd dks cnyw dh fdl O;Fkk dk irk py tkrk gS\ 

(d)  pwfM+;ksa dk mfpr ewY; u feyuk      ([k)  cnyw dks [kk¡lh gks tkuk    

(x)  ys[kd ls cgqr fnuksa ds ckn feyuk  (?k)  cnyw ds dke dk can gks tkuk  
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(iii)  *og egku vkneh vk jgk gS] ftlus ,d Vk;j ds fy, izk.k ns fn, A* 

 mi;qZDr iafDr esa *egku vkneh* fdls dgk x;k gS\ 

(d)  ys[kd dks    ([k)  daiuh ds fgLlsnkj dks     (x)  cl dks    (?k)  ys[kd ds fe=ksa dks  

 (iv)  *firk ds i= iq=h ds uke* dk laca/k fdlls gS\ 

(d)  deyk usg:&bafnjk     ([k)  egkRek xk¡/kh&usg:    

(x)  usg: & bafnjk xk¡/kh    (?k)  usg: jktho xk¡/kh &fiz;adk  

(v)  *Hkxoku ds Mkfd;s* uked dfork ds dfo dkSu gSa\ 

(d)  f”koeaxy flag *lqeu*   ([k)  gfj”kadj ijlkbZ   (x)  jke/kkjh flag *fnudj*   (?k)  ujksÙkenkl  

(vi)  *euq’;rk lekIr gks xbZ gS* & ys[kd ,slk ugha dguk pkgrk D;ksa\ 

(d)  ?kVuk ?kVus ij dbZ ckj yksxksa us ys[kd dh vdkj.k lgk;rk dh gSA 

([k)  yksx Hkz’Vkpkj esa iwjh rjg ls fyIr gSaA 

(x)  yksx vdkj.k gh bZekunkj gks x, gSaA 

(?k)  lekt ds yksx bZekunkj vkSj ifjJeh gSaA 

(vii)  dchjnkl us *?kkl* dks fdldk izrhd ekuk gS\ 

(d)  vgadkjh O;fDr;ksa dk         ([k)  /kkfeZd O;fDr;ksa dk     

(x)  lekt ds ncs&dqpys O;fDr;ksa dk    (?k)  n;kyq O;fDr;ksa dk O;fDr;ksa dk  

(viii)  *gfj&gy/kj dh tksVh*  

    mi;qZDr iafDr esa *gfj&gy/kj* fdlds fy, iz;qDr gS\ 

(d)  cyjke vkSj d`’.k ds fy,    ([k)  d`’.k vkSj ;”kksnk ds fy,     

(x)  d`’.k vkSj cyjke ds fy,    (?k)  d`’.k vkSj muds fe=ksa ds fy,  

(ix)  dfo lwjnkl us inksa dh jpuk fdl Hkk’kk esa dh gS\ 

(d)  vo/kh  ([k)  cztHkk’kk    (x)  jktLFkkuh     (?k)  laLd`r  

[k.M & [k[k.M & [k[k.M & [k[k.M & [k    

5 fuEufyf[kr iz”uksa ds laf{kIr mÙkj nsa &          [2x3=6] 

 (d)  ys[kd dk eu lekpkj i=ksa dks i<+dj D;ksa cSB tkrk gS\ 

([k)  Qkfrek lkbfdy fdjk;s ij D;ksa ysrh Fkh\ Lkkbfdy pykus esa og D;k fo”ks’k ckr eglwl djrh gS\ 

(x)  HkkokFkZ fy[ksa & 

 tx esa cSjh dksbZ ugha] tks eu lhry gks;A 

 ;k vkik dks Mkfj ns] n;k djS lc dks;AA 
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6 fuEufyf[kr iz”uksa ds mÙkj nsa &           [3x3=9] 

 (d)  vU; ljdkjh foHkkxksa dh vis{kk Mkd foHkkx dk xqMfoy lcls vf/kd gSA dSls\ 

([k)  lkbfdy vkanksyu ls iqMqdksV~VbZ dh efgykvksa ds thou esa vk, cnykoksa dk mYys[k djsa A 

(x)  *dkepksj* dgkuh ds ek/;e ls ys[kd D;k crkuk pkgrs gSa\ ?kj ds cPps dke D;ksa ugha djuk pkgrs Fks\ 

7 *e/kqdy”k* ij vk/kkfjr fdUgha rhu iz”uksa ds mÙkj fy[ksa A      [2x3=6] 

(d)  izsepan ds LoHkko dh fdUgha pkj fo”ks’krk,¡ fy[ksaA 

([k)  *daBgkj* uked dgkuh ls gesa D;k f”k{kk feyrh gS\ 

(x)  laU;klh us jktdqekj dks mlds dÙkZO; dk Kku fn;kA dSls\ 

 (?k)  va/ks fHk[kkjh dk iq= mls NksM+ dj dgk¡ Hkkx x;k Fkk rFkk mlds iq= dh e`R;q dSls gks xbZ\ 

(³)  *;g xkM+h ljkbZ LVs”ku ij :dsxh*\ ;g iz”u fdlus iwNk rFkk D;ksa\ 

jpukRed dk;ZjpukRed dk;ZjpukRed dk;ZjpukRed dk;Z    

8 fuEufyf[kr fo’k;ksa esa ls fdlh ,d fo’k; ij 100&150 “kCnksa esa ,d vuqPNsn fy[ksa &    [6] 

 iqLrdky; &  

 ladsr fcUnq 

• ifjp; 

• o.kZu 

• izdkj 

• egÙo  

• fu’d’kZ 

cky etnwjh dh leL;k & lek/kku 

ladsr fcUnq  

• Hkwfedk 

• Hkkjr esa ckyetnwjh 

• dkj.k 

• mik; 

• fu’d’kZ 

9 vius lgikBh ds lkFk fd, x, nqO;Zogkj ds fy, {kek ;kpuk djrs gq, izkpk;Z dks i= fy[ksaA   [5] 

        vFkokvFkokvFkokvFkok    

 vius NksVs HkkbZ dks ifjJe dk egÙo crkrs gq, i= fy[ksaA 
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10 uhps fn, x, fp= dks /;kuiwoZd ns[ksa rFkk vius “kCnksa esa o.kZu djsaA       [4] 

 

 

11 uhps fn, x, fcanqvksa ds vk/kkj ij yxHkx 100&120 “kCnksa esa ,d y?kq dFkk fy[ksa &     [4] 

 ladsr & 

 vkJe ----------------uV[kV f”k’; ------------nhokj Qk¡nuk----------------- mlds xq:th ;g ckr tkurs Fks ------------------- 

 nhokj ij lh<+h yxh fn[kkbZ nh--------------------uhps mrjus esa enn -------------xq:th ds izseiw.kZ opu -------------- 

 xyrh ds fy, {kek A 

vFkokvFkokvFkokvFkok    

ladsr &  ikyrw fpfM+;k ------------------ rktk ikuh vkSj nkuk --------------pkykd fcYyh MkWDVj dk os”k /kkj.k dj ogk¡ 
igq¡ph ------------------ LokLF; ijh{k.k ------------------fcYyh dh pky dks rqjar le> xbZ ---------------- nq”eu fcYyh------------ 
ek;wl gksdj ogk¡ ls pyh xbZA     

  

 

***************** 
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             DELHI PUBLIC SCHOOL
                                 

                                           ANNUAL EXAMINATION (2020

  Class:- VIII    

            Time – 3 Hrs.   

General Instructions:- 

1. The question paper contains two parts : part A
2. Both parts have internal choices

Part A 
1. It consists of two sections 1 & 2
2. Section 1 has 16 questions of 1mark each. Internal choice is there in 5 questions
3. Section 2 has 4 questions on case study . Each case study has case based 5 sub parts. 
Examinee has to attempt any 4 sub parts out of 5

Part B 
1. Question no. 21 to 26 are very short answer type questions of 2 marks each
2. Question no. 27 to 33 are short answer type questions of  3 marks each
3. Question no. 34 to 36 are long answer type question of 5 marks each
4. Internal choice is provided in 2 questions of 2 marks , 2 questions of 3 marks , 
     1 question of five marks. 

Directions ( Q. Nos. 1-16) Section

provided in 5 questions. 

1.  The present age of Sunita’s mother is three times the present age of S

ages will add to 66 years. Find S

2.  Find the value of x where    
��
�

                                            

Three consecutive integers add up to 51. What are these integers?                            

3. If one member of a Pythagorean triplet is 15cm, then find out the other two members.

4. Find the smallest number by which 9408 must be divided so that 

square.  

                                                                   

   Find the greatest 4-digit number which is a perfect square.

5.  Parikshit makes a cuboid of plasticine of sides 

he need to form a cube? 
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   PART - A 

SECTION – 1 

Section-1 has 16 questions of 1 mark each. Internal choice is 

’s mother is three times the present age of Sunita

ages will add to 66 years. Find Sunita’s present age. 

� � ���
� � ��	


  

   OR 

Three consecutive integers add up to 51. What are these integers?                            

If one member of a Pythagorean triplet is 15cm, then find out the other two members.

Find the smallest number by which 9408 must be divided so that the quotient is a perfect 

                                                                      OR 

digit number which is a perfect square. 

Parikshit makes a cuboid of plasticine of sides 7cm, 2 cm, 7 cm. How many such 
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1 has 16 questions of 1 mark each. Internal choice is 

unita. After 5 years their 

Three consecutive integers add up to 51. What are these integers?                                     

If one member of a Pythagorean triplet is 15cm, then find out the other two members. 

the quotient is a perfect 

cm. How many such cuboids will 
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6. Find the cube root of the following number: 17576 . 

7. Simplify :  �
�
	�

�� � � 
�
��

�	
} ÷ 
�

��
��

 

8.  Simplify : 
���

��×���  

OR 

In a stack there are 6 books each of thickness 20mm and 6  paper sheets each of thickness 0.016 

mm. What is the total thickness of the stack? 

9.  Find the value of 3L+3M-4N ,where L=a – b + ab, M=b – c + bc and N=c-a+ca 

OR 

Subtract 4a – 7ab + 3b + 12 from 12a – 9ab + 5b – 3 

10.  Draw a net of a hexagonal prism. 

11.  y and square root of x are in direct variation and y= 9 when x= 9.Find the value of x when y=6. 

12.  Draw any figure of a regular polyhedron with name. 

13.  Factorise the following:   8x2 – 24xy + 18y2 

                                        OR 

Divide as directed:     96abc(3a – 12) (5b – 30) ÷ 144(a – 4) (b – 6) 

14.  Find the digits A and B where.  BA X B3 = 57A 

15.  Find two rational numbers between  ½ and −2/5. 

16. Can you construct a unique figure of a parallelogram TRUE where TR = 5.5 cm and RU = 4.2 

cm? Why or why not? 

SECTION – 2 

Directions: (Q. Nos. 17-20) SECTION-2 has 4 questions on case study . Each case study has 
case based 5 sub parts.  Examinee has to attempt any 4 sub parts out of 5. Each sub-part 
carries 1 mark. 

17.  UFO’s are any unexplained moving object observed in the sky, especially one assumed by 
some observers to be of extraterrestrial origin. Rahul a student of class VIII has a interest in a 
space science. So, he makes a shape of UFO which is shown in below figure. In this figure 
ABCD is an isosceles trapezium where AB=36cm,BC=15cm,CD=12cm,ABllCD, the perp. 
Distance between AB and CD is 9cm and the equilateral triangles APB,BCQ,CDR and ADS are 
described on it’s sides. Answer the following questions that arises in mind of Rahul by looking 
the figure. 

 
 



 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

i) Find the area( in Sq.cm) of the trapezium ABCD

      (a) 262                       (b) 261                        

ii) Find the area( in Sq.cm) of the triangle APB

           (a)342√3       (b) 234√3
iii) Find the area( in Sq.cm) of the triangle BCQ

(a) 56.25√3            (b) 65√3                         

iv) Find the total area( in Sq.cm) of the UFO

           (a) 1063                       (b) 1034                   

v) Find the area( in Sq.cm) of the triangle CDR

          (a) 63√3                         (b) 16√3
(c) 26√3  (d) 36√3 

18. Games and sports play a major role in keeping a person fit 

blood flow in the entire body. So

the immunity of the body increases by playing outdoor 

government is very much encouraging school students for g

carrier opportunity for the students. That’s why different types of awareness 

on in the school. The following pie chart represents the amount spent on different sports by a 

school administration in a calenda

following questions:  

i) What is the total amount spent on sports?

(a) Rs.7200             (b) Rs.72000                     (c)
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i) Find the area( in Sq.cm) of the trapezium ABCD 

                               (c) 226              (d) 216 

the area( in Sq.cm) of the triangle APB 

3                     (c) 324√3        (d) 432√3 

Find the area( in Sq.cm) of the triangle BCQ 

                          (c) 56√3          (d) 65.2√3.          
Find the total area( in Sq.cm) of the UFO (Approximately)  

                          (c) 1036            (d) 1043 

Find the area( in Sq.cm) of the triangle CDR 

3                              

 

Games and sports play a major role in keeping a person fit fine. Furthermore

body. So this help in keeping the heart in the best 

the immunity of the body increases by playing outdoor sports. Nowadays

government is very much encouraging school students for games &sports. It

students. That’s why different types of awareness 

following pie chart represents the amount spent on different sports by a 

school administration in a calendar year. If the money spent on football is Rs.9000,

What is the total amount spent on sports? 

s.72000                     (c) Rs.2700           (d) Rs.27000 

                                              

fine. Furthermore, it increases the 

keeping the heart in the best condition. More over 

sports. Nowadays our Indian 

sports. It is also a good 

students. That’s why different types of awareness program is going 

following pie chart represents the amount spent on different sports by a 

r year. If the money spent on football is Rs.9000, answer the 



 

 

 

ii) How much more amount is 

 

 

 

 

(a) Rs.11000              (b) Rs.11100

 iii) What is the amount spent on cricket?

(a) Rs.36000             (b) Rs. 3200

iv) What is the amount spent on 

   (a) Rs.40000            (b) Rs.400              

v) What is the ratio of the amount spent on cricket to the total amount spent on all the sports?

      (a) 4:9                        (b) 4:7                

19.  Prakhar is studying in VIII standard

shape (shown in figure). After visiting the land

to his questions by looking at the figure

 

 

 

 

 

        i) Measure of ∠AOB 

            (a)70o                                (b)35o

ii) Measure of ∠BOC 

(a) 55o                                (b)35

iii)  If OB = 5cm, then value of 

(a) 12cm                            (b) 10

iv) If BC= 6cm, then value of D

(a) 8cm                               (b) 9cm
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ii) How much more amount is spent on hockey than on football? 

Rs.11100            (c) Rs.1110   (d) Rs.1100 

amount spent on cricket? 

3200               (c) Rs.32000         (d) Rs.3600

amount spent on basket ball? 

                 (c) Rs.40                   (d) Rs.4000 

v) What is the ratio of the amount spent on cricket to the total amount spent on all the sports?

                        (c) 9:4                     (d) 7:4 

Prakhar is studying in VIII standard. His father purchased a plot which is in a 

After visiting the land ,few questions came in his mind

to his questions by looking at the figure. 

o                 (c)55o                 (d)110o 

35o                 (c)70o                 (d)110o 

of BD is                                                                   

10cm              (c)5cm               (d)15cm 

DC is 

cm                (c) 10cm           (d) 11cm 

 

v) What is the ratio of the amount spent on cricket to the total amount spent on all the sports? 

which is in a rectangular 

,few questions came in his mind. Give answers 

is                                                                      



Pg -5of 7 

 

 
 
 

 

(v) Which is not the correct congruence rule applicable to prove ⨞AOD≅⨞COB 
       (a)SSS                      (b) SAS                (c) ASA                 (d) RHS 
 
20.  Simple interest usually applies to automobile loans or short term personal loans, it helps 

consumers pay off their mortgages early and banks typically pay compound interest on 
deposits a benefit for depositors, if you prolong paying off your credit card debt, your 
principal will grow, Vivek told his friend Dipak. But Dipak has no idea about S.l and C.l. Then 
Vivek has given one example : Fabina borrows Rs. 12,500 at 12% per annum for 3 years at 
simple interest and Radha borrows the same amount for the same time period and same rate 
of interest per annum, compounded annually. Answer the following questions that arises in 
mind of Dipak. 

i) Find out Fabina’s total interest after 3 years (in Rs.) 

(a) 450                               (b) 4500                             (c) 3500                                    (d)350 

ii) Find out Fabina’s total amount after 3 years (in Rs.)  

(a)1800                               (b)1700                             (c)17000                                    (d)18000 

iii) What is  Radha’s total interest after 3 years (in Rs.)?   

(a) 5601                               (b)5610                             (c)5601.50                              (d)5061.60 

iv) What is Radha’s total amount after 3 years(in Rs.)? 

(a)17561.60                        (b)17061                             (c)17061.50                           (d)17651.50 

v) Who pays more interest and by how much (in Rs.)? 

(a)Radha, 561.60                   (b)Fabina, 561.50                     

(c)Radha, 516.50                    (d)Fabina, 516.50 

 
PART - B 

Directions : (Q. Nos. 21-26) These are Very Short Answer Type questions of 2 marks each. 

21.  Prove that subtraction is not associative for rational numbers, where x= � �
	, y= � 	

� & z= 
�
� . 

                                                                                OR 

Simplify : 
�	
� × �

�� + 
�
� × ���

	 � � 
�
� × 	

�� 

22.  Find the smallest square number that is divisible by each of the numbers 4, 8,10 and 20. 

23.  The list price of a frock is Rs.220. A discount of 20% is announced on sales. What is the amount 

of discount on it and its sale price. 
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24.  Using Euler’s formula find the unknown :  

 

Solid E F V E+2 F+V 

Pyramid with 
square base  

     

 

25.  Find the value of x:    2� � + 2��� = 9 

                                     OR 

The Mass of earth is 5.97 × 1024 kg and mass of moon is 7.35 × 1022 kg. What is the total mass 

and write it in it’s standard form. 

26.  If 31z502 is a multiple of 3, where z is a digit, what might be the values of z? 

Directions : (Q. Nos. 27-33) These are  Short Answer Type questions of 3 marks each. 

27.  The digits of a two-digit number differ by 4. If the digits are interchanged and the resulting 

number is added to the original number, we get 88. What can be the original number or 

numbers? 

28.  Construct a quadrilateral MIST where MI = 3.5 cm, IS = 6.5 cm, ∠M = 75°, ∠I = 105°  

and ∠S = 120°. 

29.   Is 31944 a perfect cube? If not, then by which smallest natural number should 31944 be divided 

so that the quotient is a perfect cube? 

                                                              OR 

The volume of a cube is 1157625m3. Find the side of the cube. 

30.  Show that: 
�	# −
	
�$�

�
+ 2#$= 

�

� #

� + �
�
$

� 

31. Water is pouring into a cuboidal reservoir at the rate of 50 litres per minute. If the volume of 

reservoir is 150 m3, find the number of hours it will take to fill the reservoir? 

32.  Simplify: 
�%&�⋅	�%()

%⋅	%()(�  

33. Suppose 2 kg of sugar contains 9 × 109 crystals. How many sugar crystals are there in  5.5 kg of 

sugar?                                                   OR 

A group of 3 friends staying together, consume 54 kg. of wheat every month. Some more 

friends join this group and they find that the same amount of wheat lasts for18 days. How 

many new members are there in this group now?                            
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Directions : (Q. Nos. 34-36) These are  Long  Answer Type questions of 5marks each. 

34.  Factorise the following :      (a)*� − 256 + 16.� − 8*�.�                                       [3+2=5] 

                                                        (b) 0� + 0 − *� − 3* − 2 

35.  The runs scored by two teams A and B in first 10 overs are given below:      [3+1+1=5]      

Overs l ll lll lV V VI VII VIII IX X 

Team A 2 1 8 7 4 5 6 10 6 2 

Team B 6 6 7 10 5 6 6 4 8 10 

 

Draw a line graph on the same axes. 

i) Using this table find out the average run of team A.             

ii) Using this table find out the average run of team B. 

 

36.   i) If 1 − �
2 = 9, find the value of 1� + �

2�.      [2.5+2.5=5] 

            ii) Simplify the following product (using identity):  34� + 24 + 2534� − 24 + 25 
                                                               OR 

      36. a) If 44� + 6� = 40 and 46 = 6, find the value of 24 + 6. 

            b) Find the continued product (using identity) : 34 − 1534 + 1534� + 1534� + 15. 
 

******************* 



 

              DELHI PUBLIC SCHOOL
                                 

                                            ANNUAL EXAMINATION (2020

Class:- VIII    

            Time – 3 Hrs.   

1. All questions are compulsory.

2. Marks are indicated against each question.

I. Choose the most appropriate answer. 

1. A car skids on a wet road because

(a) Water increases the friction between the road and the tyers

(b) It is not possible to apply breaks on a wet road

(c) The friction between the brake shoes and the wheels is reduced

(d) Water reduces the friction between the road and the tyres

2. The charge acquired by a glass rod when rubbed with silk is

(a) Positive                    

(b) Negative 

(c) Both (a) and (b) 

(d) None of these                                                                           

II. Very short answer questions.   

3. Suppose the moon emits light of its own. Would it still have phases? Justify your 

4. State the laws of reflection.                                                                

 III. Short answer type questions  

5. (a) You spill a bucket of soapy water on a marble floor accidently. Would it make it easier 
or more difficult for you to walk on the floor? Why?

(b) Name the shape given to the objects moving in fluids to reduce friction.       

      6.  A child staying in a costal region tests drinking water and sea water with a 
           conduction tester. He finds that the compass needle deflects more in the case of 
           sea water. Explain the reason. 

      7. What is meant by seismic or fault zones? Name two fault zones in India.

 IV. Long answer questions   

     8. (a)It is much easier to burst an inflated balloon with a needle than by a finger. Explain

          (b) Define one Newton.                                                                                                        

     9. (a) A pendulum oscillates 50 times in 5 seconds. Find its time period and frequency.

         (b) A person fires a gun standing at a distance of 55 m from a wall. If the speed of 
               sound 330m/s, find the time for an echo to be heard.              
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Choose the most appropriate answer.       

A car skids on a wet road because 

Water increases the friction between the road and the tyers 

It is not possible to apply breaks on a wet road 

The friction between the brake shoes and the wheels is reduced 

Water reduces the friction between the road and the tyres                     

charge acquired by a glass rod when rubbed with silk is 

None of these                                                                                                      

       

Suppose the moon emits light of its own. Would it still have phases? Justify your 

State the laws of reflection.                                                                                           

       

(a) You spill a bucket of soapy water on a marble floor accidently. Would it make it easier 
or more difficult for you to walk on the floor? Why? 

(b) Name the shape given to the objects moving in fluids to reduce friction.       

A child staying in a costal region tests drinking water and sea water with a 
conduction tester. He finds that the compass needle deflects more in the case of 

reason.  

or fault zones? Name two fault zones in India.                     

       

an inflated balloon with a needle than by a finger. Explain

.                                                                                                        

(a) A pendulum oscillates 50 times in 5 seconds. Find its time period and frequency.

(b) A person fires a gun standing at a distance of 55 m from a wall. If the speed of 
sound 330m/s, find the time for an echo to be heard.               
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  [1x2=2] 

                      

                            

  [ 1x2 =2] 

Suppose the moon emits light of its own. Would it still have phases? Justify your answer.  

                            

    [2x3=6] 

(a) You spill a bucket of soapy water on a marble floor accidently. Would it make it easier 

(b) Name the shape given to the objects moving in fluids to reduce friction.           

A child staying in a costal region tests drinking water and sea water with a  
conduction tester. He finds that the compass needle deflects more in the case of  

                      

  [3x4 =12] 

an inflated balloon with a needle than by a finger. Explain 

.                                                                                                         

(a) A pendulum oscillates 50 times in 5 seconds. Find its time period and frequency. 

(b) A person fires a gun standing at a distance of 55 m from a wall. If the speed of  



 

                                                                

10.  (a) Two mirrors meet at right angles. A ray of light is incident on one at an angle of 

30° as shown in Fig.  Draw the reflected ray from the second mirror and calculate the 

angle of reflection from the second mirror. 

 

(b) What are the features of the eyes of   nocturnal birds? How it helps to have  

    an extraordinary night vision?                                                                                                                                        

11. (a) What do you mean by a light year? express one light year in meter. 

             (b) Draw sketch to show the relative positions of prominent stars in Ursa  

Major constellation.  

V.  Very long answer questions.         [1x5 =5] 

     12.  (a) Describe with the help of a diagram, how to use an electroscope to  

                 determine the nature of charge (positive/negative) on a body?  

        (b) Explain how does lightening conductor protects a building from getting struck  

      by lightning. 

                                                                      OR 

       (a) 

  

Which defect of the eye is shown in the above diagram? Explain the correction of the defect 

with a ray diagram. 

   (b) Explain the functions of ciliary muscles and optic nerve of a human eye.  
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CHEMISTRY 

I. Choose the correct option:-        [1x2=2] 

         1. Which poisonous gas is formed as a result of incomplete combustion? 

   a) Coal gas   b) Carbon monoxide   c) Carbon dioxide    d) Nitrogen dioxide 

         2. What is the colour of the outermost zone of the candle flame 

a)Blue     b) Black      c) Yellow      d) Red 

II.  Very short answer questions:-         [ 1x3 =3] 

         3. Name the metal present in Haemoglobin. 

         4 . Which fire resistant material is used as a coating on the uniforms of firemen? 

         5. What is the process of conversion of dead vegetable matter into coal called? 

III. Short Answer questions:-                       [2x4=8] 

         6.  Distinguish between thermoplastics and thermosetting plastics with respect to 

a) Arrangement of molecules 

b) Ability  to remould 

         7. Explain how manufacturing of synthetic fibres is helping in the conservation of forests. 

         8. a) Define ignition temperature  

             b) Fuel ‘A’ has higher ignition temperature than fuel ‘B’. Which is a better fuel? 

        9.   a) Which air pollutant combines with the haemoglobin of our blood? 

              b) Mention two ways to reduce air pollution? 

IV. Long Answer questions:-             [3x3=9] 

       10. A yellow coloured brittle element ‘A’ is heated in air. A gas ’B’ is evolved which  

            on dissolving in water forms a compound ‘C’ which turns moist blue litmus paper red. 

    a) Identify ‘A’ and ‘B’ 

    b) What is the nature of ‘C’ 

   c) Is ‘A’ a metal or non metal. 

     11.  a) Give two reasons to explain why LPG is a better domestic fuel than wood. 

            b) Draw a well labelled diagram of a candle flame. 

     12. Write the full form of CFCs. How do they damage the environment? 

V.  Very Long answer questions:-          [5x1=5] 

     13. a) What are the threats that Taj Mahal is facing? 

           b) Name two water borne diseases. 

       OR 

    14.  a) State one way in which air pollution can kill the fish living in a lake and one way  

                in which water pollution caused by agricultural activity can kill the fish. 

   ( Name the two phenomena) 

b) What is green House effect? State its importance for us. 
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BIOLOGY 

 

I. Choose the correct option:-        [1x2=2] 

1. Read the statements given below. 

(i)Seeds require moisture for germination. 

(ii) Plants can absorb nutrients only in dissolved form. 

(iii) Irrigation protects crops from pest and rodents. 

(iv) Irrigation improves soil texture. 

 

Choose the combinations of statements which indicate the need to irrigate crops. 

(a) (i) and (ii)  (b) (i), (ii) and (iii)   (c) (i), (ii), (iii) and (iv)       (d) (i) and (iii) 

 

2.  Aquatic animals in which fertilization occurs in water are said to be   

(a) Viviparous without fertilization  

(b) Oviparous with external fertilization 

(c) Viviparous with internal fertilization 

(d) Oviparous with internal fertilization 

II.  Very short answer questions:-         [ 1x2 =2] 

3. Mosquitoes can be controlled by preventing stagnation of water though they do  

not live in water. Why?           

4. In leaves, name the cell organelle and pigment that is responsible for its green colour.  

III.     Short Answer questions:-                      [2x4=8]

     

5. (a) What affects the natural habitat of endemic species and endanger their existence.   

    (Give any 2 points ) 

(b) Define biodiversity    

                    Give reasons :    

           6. (a) Pituitary is called the master gland .  (1x2=2) 

    (b) Tadpoles fail to develop into adult frogs in  iodine deficient water. 

 

7. (a) Why plant cell need a cell wall?   (1x2=2) 

    (b)  What advantage does amoeba derive by changing its shape? 

 

8. (a) Despite favourable climatic condition a farmer crop failed to give good yield.  

          Give any two possible reasons for this. 

    (b) Name one weedicide and one fertilizer. (1x2=2) 

IV.     Long Answer questions:-                      [3x3=9]

  

 9. (a) Why are children vaccinated ? (1x3=3) 

    (b)  What is food poisoning ? 

    (c) Name the carrier of Dengue. 
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           10. Differentiate between      (1x3=3) 

     (a) Flora and Fauna  

     (b)  Reforestation and Afforestation  

      (c) Zoo and Sanctuary  

 

           11.  Draw a schematic diagram to explain sex determination in humans. (Use dark pencil 

                  or black pen.    (3) 

 

OR 

Enlist any three characteristics of hormone. 

 

V.  Very Long answer questions:-         [5x1=5] 

 

12. (a) Draw the diagram of a human female reproductive system and label the  

                       following parts. (Use dark pencil or black pen.)    (2) 

(i ) Part where fertilization occurs  

(ii ) Part which releases the gametes. 

(iii) Part where the embryo gets embedded. 

 

(b) Differentiate between ovary and testis   (2) 

(c) What  purpose does a tail in a sperm serve?   (1) 

 

OR 

(a) How is reproduction in hydra different from reproduction in amoeba?  (2) 

(b) Diagrammatically represent  the reproduction in any one of the  

        above cases. (Use dark pencil or black pen.)      (2) 

(c) Why do fishes lay hundreds of eggs?   (1) 

  

 

******************* 
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  Class:- VIII    

            Time – 3 Hrs.   

1. All questions are compulsory.

2. Marks are indicated against each question.

I. Choose the correct option:-  

1. The British preserved official documents because

a) The preserved documents reveal the progress made by country in the past

b) One can study the notes and reports which were prepared in the past

c) Their copies may be made and used in modern times

d) All of the above. 
2. What was the farman? 

a) Name of a trading ship

b) A royal edict to trade duty free

c) Name of the East India Company Factory

d) None of these 
3. Bewar is a term used in Madhya Pradesh for

a) Shepherds 
b) Cattle herders 
c) Shifting Cultivation

d) traders & Moneylenders

4. Which of the following groups of cities were known as Presidency

a) Bombay, Surat and Machlipatnam

b) Delhi, Calcutta & 

c) Bombay, Delhi and Dacca

d) Bombay, Calcutta and Madras

II. Define the following terms:-  

a) Mercentile b) Mahal 

III. Answer these questions briefly:- 

1. What was the demand of Rani Lakshmibai of Jhansi that was refused by the British

2. What is the difference between a Dargah and a 

IV. Answer these questions:-  

1. Who were Chhitigars? List any two problems which were faced by the Indian textile industry in 

the first few decades?  
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official documents because___________ 
The preserved documents reveal the progress made by country in the past

One can study the notes and reports which were prepared in the past. 
Their copies may be made and used in modern times. 

ame of a trading ship 
A royal edict to trade duty free 
Name of the East India Company Factory 

Bewar is a term used in Madhya Pradesh for 

Shifting Cultivation 
Moneylenders 

ing groups of cities were known as Presidency cities?

Surat and Machlipatnam 
& Bombay 

Delhi and Dacca 
Calcutta and Madras 

      

 c) Bigha d) Fallow       e) Mutiny 
       

What was the demand of Rani Lakshmibai of Jhansi that was refused by the British

What is the difference between a Dargah and a Khanqah? 
      

List any two problems which were faced by the Indian textile industry in 

(1+2=3) 
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 (1x4=4) 

The preserved documents reveal the progress made by country in the past. 
 

? 

  (1x5=5) 

  (1x2=2) 

What was the demand of Rani Lakshmibai of Jhansi that was refused by the British? 

 (3x4=12) 

List any two problems which were faced by the Indian textile industry in 



 

2. When was English Education Act introduced? Why did Mahatma Gandhi want to teach children 

handicrafts?  (1+2=3) 

3. What were the different reasons people had for not sending girls to school?  (3) 

4. Name the Viceroy of India at the time of partition of Bengal. Explain the consequences of the 

partition of Bengal. (1+2=3) 

 

V. Answer the question in detail:-             (5) 
1. Which practice was described as ‘slur or blot’ on the ‘fair name of India’? What were the 

problems that the newly independent nation of India faced?  (1+4=5) 

CIVICS 

I. Choose the correct option:-                   (1x2=2) 
1. State’s efforts to influence a particular matter in accordance with the principles of the 

constitution is called 
a) Intervene 
b) Coercion 
c) Secularism 
d) None of these 

2. When two or more political parties come together after elections, when no party has been able to 

get adequate seats to form a clear majority is known as ____ 
a) Alliance 
b) Coalition 
c) Both A & B 
d) None of these 

II. Answer these questions briefly :-                (1x2=2) 
1. What do you understand by the term ‘Human Trafficking’? 
2. What does unresolved mean? 

III. Answer the following questions:-                (3x5=15) 
1. What do you understand by ‘rule of law’. State two reasons why historians refuse the claim 

that the British introduced the rule of law in India?   (1+2=3) 
2. Define violation. Discuss the role of PIL in Indian Judiciary.  (1+2=3) 
3. Who is Public Prosecutor? How was the trial of Shanti a fair trial as mentioned in the text? 

 (1+2=3) 
4. What is marginalisation? How are Adivasis stereotyped? (1+2=3) 
5. What does Article 17 of the constipution state? What does Government do to promote social 

justice among Dalits and Adivasis?    (1+2=3) 
IV. Answer the question in detail:-                      (5) 

1. What are minimum wages? What are the advantages to foreign companies in setting up 

production units in India?     (1+4=5) 
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GEOGRAPHY 

I. Answer the following questions in very short:          (1x5=5) 
 1. Define Stock of Resource. 

2. Fill in the blank: 
The distribution of natural resources depends upon number of ------- factors like terrain, 
climate and altitude. 

3. Which of the following energies is obtained in the form of hot Spring? 
 a) Nuclear Power 
 b) Wind energy 
 c)  Geothermal Energy 
 d) Tidal Energy 

4. Which are three main factors that cause population change? 
 a) Births, deaths and marriage 
 b) Births, deaths and migration 
 c) Births, deaths and life expectancy 
 d) None of these 

5. What is the average density of population in India?  

II. Answer the following questions in short:        (3x2=6) 

1. Write advantages and disadvantages of Hydel Power. Give three points from each. 

2. Write any three characteristics of plantation agriculture. 

III. Answer the following questions in detail:       (5x2=10) 

1. Explain the major factors of soil formation.       (5) 

2. How the Iron and Steel Industry is a feeder industry?  Why the Iron and Steel Industry  

is often referred to as the “backbone of modern industry”? Discuss in four points.   (1+4=5) 

        

IV. Give reasons of the following:          (1x4=4) 

1. Coal is referred to as Buried Sunshine. 

2. Different crops are grown in different regions. 

3. IT jobs in the USA were outsourced to countries like India. 

4. The general trend of international migrations is from the less developed to the more  

developed nations. 

V. Locate and label the following on the Political Map of India:     (1x3=3) 

1. Jamshedpur Iron and Steel Industry. 

2. Ahmedabad cotton textile industry. 

3. Bengaluru IT industry. 
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d{kk& v’Ve~d{kk& v’Ve~d{kk& v’Ve~d{kk& v’Ve~            

                le;& le;& le;& le;& 1½ ?kaVs?kaVs?kaVs?kaVs            

 

1. v/kksfyf[kra xn~;ka”ka ifBRok iz”ukuke~ mÙkjkf.k fy[kr &

vn~; lEiw.kZfo”os **fMftVy bf.M;k** bR;L; ppkZ Jq;rsA vL; inL; d% Hkko% bfr eufl 
ftKklk mRin~;rsA dkyifjorZusu lg ekuoL; vko”;drk vfi ifjorZrsA izkphu dkys KkuL;
vknku&iznkua ekSf[kda vklhr~ ] fon~;k p JqfrijEij;k x`g;rs LeA vuUrja rkyiÙkksifj 
Hkksti=ksifj p  ys[kudk;Ze~ vkjC/k
 

I. ,dinsu mÙkjr   
(i) Ekufl dk mRin~;rs
(ii) ys[ku dk;Za dq= vkjC/ke~

 

II. iw.kZokD;su mÙkjr &    
izkphudkys fo|k dFka x`g~;rs Le
 

III. funsZ”kkuqlkje~ mÙkjr &    
(i) *eufl* vfLeu~ ins dk foHkfDr

(d) izFkek   
(ii) *vklhr~* bfr fØ;kins d% ydkj%

(d) y³~      

  (iii)  ‘vL; inL;’ vu;ks% in;ks% fo”ks’k.kine~ fde~

(d) inL;        

  (iv)  ‘lg* bfr inL; ;ksxs

(d) izFkek         

2.  v/kksfyf[kra “yksda ifBRok iz”ukuke~ mÙkjkf.k fy[kr &

;a ekrkfirjkS Dys”ka lgsrs 

u rL; fu’d`fr% “kD;k drqZa o’kZ”krSjfiAA

 

    fnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡ph 
                                                    okf"kZd ijh{kk okf"kZd ijh{kk okf"kZd ijh{kk okf"kZd ijh{kk (2020-21)     

                                                                

                                

/kksfyf[kra xn~;ka”ka ifBRok iz”ukuke~ mÙkjkf.k fy[kr & 

lEiw.kZfo”os **fMftVy bf.M;k** bR;L; ppkZ Jq;rsA vL; inL; d% Hkko% bfr eufl 
dkyifjorZusu lg ekuoL; vko”;drk vfi ifjorZrsA izkphu dkys KkuL;

vknku&iznkua ekSf[kda vklhr~ ] fon~;k p JqfrijEij;k x`g;rs LeA vuUrja rkyiÙkksifj 
s[kudk;Ze~ vkjC/ke~A 

       
Ekufl dk mRin~;rs\ 

ys[ku dk;Za dq= vkjC/ke~\ 

iw.kZokD;su mÙkjr &           
izkphudkys fo|k dFka x`g~;rs Le\ 

funsZ”kkuqlkje~ mÙkjr &           
*eufl* vfLeu~ ins dk foHkfDr\ 

 ([k) iapeh     (x) lIreh     (?k) ‘k’Bh
*vklhr~* bfr fØ;kins d% ydkj%\ 

 ([k) yV~        (x) y`V~        (?k) yksV~ 

vu;ks% in;ks% fo”ks’k.kine~ fde~\ 

      ([k) vL;      (x) Hkko%   (?k) d%

inL; ;ksxs dk foHkfDr Hkofr\   

izFkek         ([k) r`rh;k    (x) prqFkhZ   (?k) iapeh 

/kksfyf[kra “yksda ifBRok iz”ukuke~ mÙkjkf.k fy[kr &  

;a ekrkfirjkS Dys”ka lgsrs lEHkos u`.kke~A 

u rL; fu’d`fr% “kD;k drqZa o’kZ”krSjfiAA 
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                                            fo"k;&laLd`re~fo"k;&laLd`re~fo"k;&laLd`re~fo"k;&laLd`re~    
        iw.kkZad&4iw.kkZad&4iw.kkZad&4iw.kkZad&40000    

lEiw.kZfo”os **fMftVy bf.M;k** bR;L; ppkZ Jq;rsA vL; inL; d% Hkko% bfr eufl 
dkyifjorZusu lg ekuoL; vko”;drk vfi ifjorZrsA izkphu dkys KkuL; 

vknku&iznkua ekSf[kda vklhr~ ] fon~;k p JqfrijEij;k x`g;rs LeA vuUrja rkyiÙkksifj 

    (½x2=1) 

       (1) 

    (½x4=2) 

‘k’Bh 

yksV~  

d% 

iapeh  



 

I. ,dinsu mÙkjr             (½x2=1) 

(i) ds’kka lEHkos ekrkfirjkS Dys”ka lgsrs\ 

(ii) Dys”kL; fu’d`fr% dSjfi drqZa u “kD;%\ 
 

II. iw.kZokD;su mÙkjr &                  (1) 

u`.kka lEHkos dkS Dys”ka lgsrs\ 
 

III. funsZ”kkuqlkje~ mÙkjr &               (1x2=2) 

(i) *u`.kke~* bfr ins dk foHkfDr\ 

(d) ‘k’Bh     ([k) f}rh;k    (x) lIreh    (?k) iapeh 

  (ii) *lgsrs* bfr fØ;kinL; d% ydkj%\ 

(d) y`V~          ([k) yksV~      (x) yV~      (?k) y³~  

3. js[kkafdr inkfu vk/k`R; iz”ufuekZ.ka dq:r          (1x4=4) 

  (i) i`fFkoh fLFkjk orZrs bfr ijEij;k izpfyrk :f<%A 

(ii) i`fFkohlw;Z;ks% e/;s pUnzL; /kk;kikrsu lw;Zxzg.ka HkofrA 

(iii) ok;qosx% loZFkk vo:n~/k% vklhr~A 

(iv) futfudsrua fxfjf”k[kjs L;kr~A 

4. eatw’kkr% mfpre~ vO;;ina fpRok fjDrLFkkukfu iwj;r &            (½x4=2) 

(i) r;ks% & fiz;a dq;kZr~A 

(ii) rs’kqa ---------- f=’kq rq’Vs’kq ri% lekI;rsA 

(iii) ------------ deZ dfj’;fl rkn`”ka Qya izkI;flA 

(iv) ----------HkxoUra HktA 

eatw’kk %&  

;kn`”ka ] fuR;a] lnk] ,o  
 

 
5 funs”kkuqlkja ydkjifjoZrua dq:r                 (½x4=2) 

 (i) rs ckydk% fo|ky;kr~ x`ga xPNfUrA (y³~ ydkj%) 

 (ii) ;w;a fda fo|ky;a xPNFk\ (y`V~ ydkj%) 
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 (iii) efgyk% rMkxkr~ tya u;fUrA (yksV~ ydkj%) 

(iv) o;a izfrfnua ikBa iBke%A (fof/kfyax) 

 

6 v/kksfyf[krkfu foykseinkfu ;kst;r         (½x4=2) 

 (i) iqjr%                lkgl% 

 (ii) Lohdh;e~           i`’Br% 

(iii) Hkhfr%             vkxeue~ 

(iv) xeue~     ijdh;e~ 

7 v/kksfyf[krkuka “kCnkuka lekukFkZd”kCnS% lg esyua dq:r &    (½x4=2) 

 (i) uwru%   lehie~ 
 (ii) o;%   uohu% 
 (iii) fud’kk   dfBurk 
 (iv) dkfBU;e~             voLFkk 
 

8 eatw’kkr% inkfu fpRok fjDrLFkkukfu iwj;r &      (½x4=2) 

  

  

 
(i) ukSdk;ke~ mifo’V% ekuo% ------------- fLFkjkeuqHkofrA 
(ii) lw;Z% if”pefnf”k -------------- xPNfrA 

(iii) ------------ Lodh;s v{ks ?kw.kZfrA 

(iv) lw;Z% vpy% i`fFkoh p ------------A 

9 ?kVukØekuqlkja okD;kfu fy[kr         (½x6=3) 

 (i) ekxsZ ;=&r= fodh.kZeodja n`’V~oka fpfUrrk% ckyk% ijLija fopkj;fUrA 
 (ii) o`{kk.kka fujUrja drZusu m’eko/kZusu p nq%f[krk% ckyk% unhrhja xUrqa izo`rk% HkofUrA 

 (iii) x`gs izp.Mks’e.kk ihfMrkfu fe=kf.k ,dSda d`Rok x`gkr~ cfgjkxPNfUrA 

(iv) “kkd~ Qykukekoj.kS% lg IykLfVd L;wrefi [kknUrha /ksuqa ckyd% dnyhQykfu Hkkst;fUrA 
(v) mifjr% vodja {ksIrqe~ mn~;rka jkstfyu~ ckyk% izcks/k;fUrA 
(vi) ckyS% lg jkstfyu~ vfi ekxsZ fodh.kZeodja ;Fkk LFkkua izf{kifrA 
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ukSdke~] pyk] i`Foh] vLra 



 
 

 
10 lfU/ka lfU/kPNsna ok dq:r               (½x4=2) 

 (i) fir`$vkns”k% 
 (ii) ijksidkj%  
 (iii) ,d$,de~ 

(iv) o/kw$vkxeue~ 
 

11 izd`fr izR;;kS la;ksT; foHkT; ok fy[kr        (½x4=2) 

 (i) fogL;     (ii) uh$rqequ~    (iii) n`”k~$DRok    (iv) ue~ $uRok 

12 miin foHkfDr fu;ekuqlkjs.k dks’Bxrs’kq “kCns’kq mfpr foHkfDra iz;qT; fjDrLFkkukfu  
iwj;r             (½x4=2)  

(i) ----------ue% (Hkkuq) 
(ii) ---------vuUrja xzke% vfLrA (m|ku) 

(iii) lTtu%------------ foHksfrA (nqtZu%) 
(vii) firk------------- migkja ;PNfrA (iq=) 

13 dks’Bds’kq iznÙk /kkrquka leqfprS% :iS% fjDrLFkkukfu iwj;r      (½x4=2) 

 (i) f”k’;k% xq:e~ --------------A (ue~ & fof/kfyax) 

 (ii) o;a pyfp=a ------------A  (n`”k~ & y`V~)  
 (iii) rs lEekua ----------------A  (yHk~ & y`V~) 

(iv) Roa r= fda -------------\  (n`”k~ & ya³~)  
 

14 “kCn:ikf.k fy[kr            (1x4=4) 

(i) unh &  lIreh foHkfDr 
(ii) dfo &  prqFkhZ foHkfDr 
(iii) fde~&L=h0 & ‘k’Bh foHkfDr 
(iv) jktu~ & izFkek foHkfDr 

 
15 /kkrq:ikf.k fy[kr &          (1x3=3) 

(i) n`”k~ & yksV~ & izFkeiq:’k 
(ii) eqn~ & y`V~ & mÙkeiq:’k 
(iii) ue~ & y³~ & e/;eiq:’k~ 
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   DELHI PUBLIC SCHOOL 
  SAIL TOWNSHIP RANCHI 

               ANNUAL EXAMINATION (2020-21) 

  

Class-VIII                                                    Subject: French 

Time: 1½ Hrs.                                            M.M: 40 

Section – A ( 5 MARKS) 

 
1. Lis et réponds.                                                                                

 

Chère Béatrice, 

As-tu reçu mes lettres ? Tu ne m'as pas répondu. Alors ça va ? Moi ça va super. Je 

veux t'annoncer une grande nouvelle. J'ai de la chance. Je viendrai à Lyon la semaine 

prochaine. Je dois faire mon projet de géo sur Lyon. Est-ce que tu peux m'aider ? Tu 

as déjà décrit ta belle ville dans ta lettre. Je veux vraiment travailler ensemble avec 

toi. Nous visiterons le vieux Lyon. 

Hier, ma mère et moi, nous sommes allées chez Carrefour et nous avons acheté 

quelques bons souvenirs pour toi et ta famille. Que te dire encore ? Demain ma famille 

et moi, nous allons faire du camping. Nous allons faire un feu de camp et nous allons 

aussi faire la cuisine, chanter, danser. J'espère que nous allons nous amuser. 

J'attends ta réponse avec impatience. 

Amicalement, 

Audrey 

 

a. Réponds aux questions.                                                         (1×5 = 5) M 

 

i. Qui écrit la lettre? 

ii. Pourquoi Audrey viendra à Lyon ? 

iii. Quand Audrey viendra chez Béatrice ? 

iv. Ou Audrey est-elle allée avec sa mère ? 

v. Qu'est-ce qu'Audrey va faire demain ? 

 

 

 

 

 

Section B ( 10 MARKS) 

 

1. Écrivez une lettre à votre ami décrire un monument de votre pays.       5M 

 

 

 



2.  Décrivez cette l’image: ( 30 – 35 ) mots :                                                     5M 

 

 

Section C ( GRAMMER) : 20 MARKS  

 

1. Conjuguez au futur proche :                                                                               3M 

             a    Je (téléphoner) _________________aux pompiers. 

b. Dans quelques secondes, le film (commencer) ____________ 

c. Mes invités (arriver)_______________dans peu de temps. 

d. Elles (terminer) _________________rapidement leurs évaluations. 

e. Dépêche-toi ! Nous (partir) ___________________ 

f. Il ( devoir) __________ aller chez le dentiste. 

 

2. .Conjuguez au futur simple :                                                                             3M 

a. Nous (revenir) _______________ demain. 

b. Bientôt, ils (aller)_____________ en Espagne. 

c. Tu ( recevoir) ____________une carte postale. 

d. Vous( faire)  _____________ un long voyage. 

e. Vous( être) ______________de retour dans un mois. 

f. J’(avoir)_______________ beaucoup de chose à raconter. 

3. Réécrivez les deux phrases en utilisant les conjonctions :                         (2.5) M 

                    (Parce que, mais, donc, ou, si) 

a. Il n'y a pas de viande, elle va à la boucherie. 

b. Ma soeur va chez le médecin, elle a mal à l'estomac. 

c. Vous préférez le vin blanc, le vin rouge. 

d. Je vais à la piscine, il fait beau. 

e. Il parle beaucoup, personne n'écoute. 

4. Mettez ces phrases au passé composé:                                                          3M 

a. Reçoivent-elles des lettres? 

b. Elle descend les bagages et elle sort. 



c. Mon ami n'est pas contente. 

d. Que faites - VOUS ? 

e. L'avion est arrivé une heure en retard. 

f. Sa tante devient la directrice. 

5. Répondez au négatif :                                                                                            3M 

a. Vous déjeunez maintenant ? 

b. Le train part bientôt ? 

c. Vos voisins déménagent demain ? 

d. Tu regardes le film ce soir ? 

e. Nous signons le contrat maintenant ? 

f. Tu as pris de l’argent? 

6. Mettez les phrases au passé recent :                                                                     3M 

a. Ils passent deux heures dans le restaurant 

b. Elles reçoivent des lettres. 

c. Tu ne dois pas partir si tôt. 

d. Votre ami regarde la télé pendant deux heures. 

e.  Nous n'avons pas de voiture. 

f. Il ne semble pas content. 

7. Remplissez les blanc qvec les bons adverbes:                                                   2.5M 

           ( beaucoup, soigneusement, vite, lentement, enfin, souvent, bien) 

a.  Martin travaille______________pour les examens. 

b. Julie corrige _________________ les copies des manuels. 

c. Nous conduisons __________________ 

d.  Ils parlent ____________________ 

e. Ils ont ________________trouvé un garage. 

 

Section D ( 5 MARKS) 

 

  

1. Répondez aux questions suivantes :                                               5M 

A. Que savez-vous de la Basilique de Fourvière ? 

B. Quel est la hauteur de la tour Eiffel ? 

C. Que savez-vous de Notre-Dame ? 

D. Qui a construire la tour eiffel 

E. Nommez un grand célèbre de paris. 

 

 



       DELHI PUBLIC SCHOOL, Ranchi 
       ANNUAL EXAMINATION 2020-21 

                       TIME: 1½ Hours                                  SUBJECT: German 

Class: VIII                    M.M. : 40 

_____________________________________________________________________________________ 
 

  

1. Stell Fragen:               [1x5=5] 

a. __________________________________________? 

- Tut mir leid, ich habe keine Zeit. 

b. __________________________________________? 

- Nein, ich habe kein Lust. 

c. __________________________________________? 

- Ja, vor dem Kino. 

d. __________________________________________? 

- In der Shantistraβe. 

e. __________________________________________? 

- Er sitzt vor dem Fernseher. 

 

2. Welches Verb passt:           [1x10=10] 

 

Hören, hängen, stehen, wohnen, liegen, gefallen, machen, stören, surfen, 
verbringen 

 

Wir _____________(1) in einem Reihenhaus und mein Zimmer ist oben im ersten 

Stock. Ich _____________(2) viel Zeit im meinem Zimmer: Ich _____________(3) 

Hausaufgaben, _____________(4) Musik, _____________(5) im Internet. 

Mein Zimmer _____________(6) mir sehr: Darin _____________(7) ein Bett, ein 

Bücherregal, ein Schreibtisch, ein Sessel, ein Kleiderschrank und eine groβe 

Spielzeugkiste. Die Spielzeugkiste _____________(8) mich: Sie muss weg! 

Im Bücherregal _____________(9) nicht nur Bücher, sondern auch meine 

Comichefte. Im Schrank _____________(10) nicht nur meine Kleider, sondern 

auch Klamotten von meiner Mutter.  

3. Was passt zusammen?             [1x5=5] 
 

a. Wo ist das Rathaus?   i. Nein, im Park. 

b. Treffen wir ins Kino?   ii. Ja, in der Sebastienstraβe. 

c. Wo ist Tina?    iii. Sie ist im Mediamarkt. 

d. Gibt es hier eine Pizzeria?  iv. Ja, vor der Post. 

e. Liegt der Schule vor der Post?  v. Am Rathausplatz. 



  

4. Lies den Text: 

Eine Stadt braucht Plätze. Sie machen die Stadt lebendig. Auf dem Platz kann 

man Leute treffen, sich unterhalten, in der Sonne sitzen, Zeitung lesen… 

In fast allen deutschen Städten gibt es einen oder mehrere Marktplätze. Hier 

findet wöchentlich ein Markt statt. Man kann Obst, Gemüse, Blumen, Käse, 

Wurst usw. kaufen. Manchmal sieht man auf den Plätzen Straβenmusikanten. Sie 

geben ein kleines Konzert und die Leute hören gern zu. 

Plätze sind gut für feste: Stadtteilfeste, Weinfeste… 

Es gibt auch viele Cafés, wo man sich bei Kaffee und Kuchen ausruhen, mit Eis 

oder einer Cola erfrischen kann. 

 

A. Richtig oder falsch               [1x5=5] 

a. Auf dem Plätz kann man auch Kricket spielen. 

b. Plätze sind ein idealer Treffpunkt. 

c. Straβmusikanten spielen nicht gern auf den Plätzen. 

d. Fast jede deutsche Stadt hat einen Marktplatz. 

e. Plätze sind für eine Stadt sehr wichtig. 

 

5. E-Mail Schreiben:                    [5] 

Du bekommst eine E – Mail von Anja,  

 

Liebe(r) __________, 
Wie geht’s? Meine Schulfeiern sind zu Ende. Morgen beginnt die Schule. Ich 
fahre mit dem Fahrrad zur Schule. Meine Schule ist nicht so weit. Es ist ungefähr 
3 Kilometer von meinem Haus und ich brauche nur fünfzehn Minuten. Viele 
Freunde von mir kommen auch mit dem Bus oder mit der Bahn. Schulbusse gibt 
es vor allem auf dem Land. Mein Freund Stefan hat Glück. Er wohnt in der nähe 
der Schule und kann zu Fuβ zur Schule kommen. 
Wie gehst du zur Schule? Zu Fuβ, mit dem Fahrrad oder habt ihr auch 
Schulbusse? Schreibt mir bald. 
 
Viele grüβe 
Anja  

 

Liest die Mail und schreib eine Antwort in ca. 40 Wörter. 

Wie weit ist deine Schule? 

Wie gehst du zur Schule? 

Wie lange brauchst du zur Schule? 

Geht man viel zu Fuβ in deinem Land? 



  

6. Bau Sätze:                  [1x5=5] 

a. Café – Marktplatz – liegen – an. 

b. Du – mit – ins – kommst – Kino? 

c. Fährt – Stefan – zum – mit – Bahnhof – Bus – dem. 

d.  Fahren – Ich – dem – mit – soll -Taxi? 

e.  Entschuldigung – Bitte – zum – Bahnhof – wie – komme – ich? 

 

7. Schreib richtig Artikel im Dativ:             [½x10=5] 

a. _____________ Schule. 

b. _____________ St. Teresa – Kirche. 

c. _____________ Ambedkarplatz. 

d. _____________ Goethestraβe. 

e. _____________ Astrakino. 

f. _____________ Hotel. 

g. _____________ Konditorei. 

h. _____________ Fischerstraβe. 

i. _____________ Bank. 

j. _____________ Post. 

 

 

 

 

 

******************* 



 

 

         DELHI PUBLIC SCHOOL 
                   SAIL TOWNSHIP, RANCHI 

                           ANNUAL EXAMINATION (2020-21) 

Class:-VIII            Subject:- Spanish 
           Time- 1½ Hrs.          M.M.-40 

1. Completa las frases con el verbo en pretérito indefinido : -                           2 
a. Ayer ……. (tener, yo) clase de español a las once y media.  
b. Margarita …….. (escribir) dos cartas a sus padres el mes pasado.  

 
      2.  Completa las frases con el verbo en pretérito imperfecto :-                           2 

a. Vivíamos en aquel edificio cuando yo.… (ser) niño.  
b. Durante las vacaciones…… (viajar, yo) a Madrid.  

 
     3.  Haz frases con las palabras de negación :-                                                    3 

a. Nadie -  
b. Nunca -  
c. Ningun -  

 
     4.  Pon las frases en imperativo :-                                                                        3 

a. Hay que escribir dos párrafos en español. (ustedes)  
b. Hay que jugar con los niños. (tú)  
c. No hay que recomendar videos malos. (tú)  
d. Hay que aprender una lengua extranjera. (Usted) 
e. Hay que cuidar su salud. (tú)  
f. No hay que beber el vino (ustedes)  

 
     5.  Haz frases usando 'que' y 'donde' :-                                                               2  

a. Biblioteca -  
b. Futbolista -  
c. Banco -  
d. Panadero -  

 
     6.  Llena los huecos con el 'Se' impersonal :-                                                     2 

a. Las tijeras ……. (usar) para cortar los papeles.  
b. La puerta de la oficina…..(abrir) sola.  
c. No …… (poder) cazar animales en el bosque.  
d. En España …….. (hablar) español.  

 
     7.  Usa la preposición segun su uso :-                                                                2  

a. Mi casa esta …… (in front of) un banco privado.  
b. Hay un estadio de fútbol….. (behind) mi colegio.  
c. Ana se sienta ….. (between) Miguel y Paloma.  
d. …. (At the right side of) hospital, hay una farmacia.  

 
  



   8.  Haz comparaciones con las palabras siguientes:-                                           2  
        (más que, mayor que, peor que, menos que) 
 

a. Un elefante/ un perro (pesar)  
b. Un gato / un tigre (correr)  
c. Mi padre es ……. mi madre. 
d. Estar enfermo es ……. estar sano.  

 
    9.  Completa con el verbo en futuro :-                                                                  2  

a. La próxima semana…… (ir, nosotros) al colegio.  
b. …….. (comprar, yo) una nueva casa el año que  

viene.  
 
   10.  Haz las frases con necesitar y hacer falta :-                                                   1 

a. Mi hermano …….. un bici para ir al colegio.  
b. A vosotros….. un diccionario de español.  

 
    11.  Completa las frases con oración condicional :-                                              2  

a. Si quieres aprobar,  ……. (hacer) los deberes.  
b. Si ……. (nevar), hace frío.  

 
    12.  Expresa las prohibiciones con las expresiones                                             2 
            de 'esta prohibido' y 'no se puede'  

a. Fumar -  
b. Usar el mobil -  
c. Encender fuego -  
d. Cortar los árboles -  

  
   13.  Haz conjugación de los verbos segun su tiempo                                           6 

a. "Aprender" (pretérito perfecto - present perfect) 
b. "Hablar" (pretérito indefinido - simple past)  
c. "Tener" (pretérito indefinido - simple past)  
d. "Empezar" (pretérito imperfecto - remote past)  
e. "Ser" (pretérito imperfecto - remote past)  
f. "Trabajar" (futuro simple - simple future)  

 
  14. Contesta a las preguntas desde comprension abajo:                                      5 

                          ​Diario de Susana  
10 de agosto, 2005 
Ir al Campeonato del Mundo de Atletismo para  
Ciegos en Colorado Springs (EE.UU.) ha sido lo  
más bonito que me ha pasado jamás, y no sólo  
por ganar la medalla de plata, sino porque fue todo 
muy especial: la gente del equipo, el ambiente,  
conocer a otros deportistas de todo el mundo, estar 
en un lugar diferente de España… Además fue el 
premio a muchos años de esfuerzo. Ahora, ¡a seguir  
trabajando! El nuevo curso parece bastante difícil,  
tengo que intentar trabajar más. Estoy entrenando  
tres horas al día, seis días a la semana; a veces no  
descanso ningún día. Esta temporada quiero ir a  



Holanda, a Assen. Allí se celebra un Mundial donde  
van los mejores del mundo en el deporte paralímpico. 
Las marcas que piden para entrar en la selección son 
bastante difíciles, pero creo que soy capaz de hacerlas, 
no hay nada imposible. Eso exige un esfuercillo extra. 
Hay que llegar a las Olimpiadas de Pekín. Ese es mi verdadero sueño.  
 
Contesta estas preguntas:  

a. En qué lugar ha quedado Susana? 
b. Crees que a Susana le gusta viajar? 
c. Entrena todos los dias?  
d. Por qué quiere ir a Holanda? 
e. Cuál es la ambición de Susana?  

 
    15. Traduce las frases españoles a ingles :-                                                            4 

a. Los indígenas americanos tenían vacas antes de llegar los españoles.  
b. ¿Conoces el origen del té y el café? Búscalo y escribelo en tu cuaderno.  
c. Hoy ha sido mi primer día en el colegio nuevo. 
d. ¿Quién será nuestro profe de español el año que viene? 

 

 


